
1

qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng 

x'g] :yfg 

cg'dflgt 

nfut 
s}lkmot

           cfly{s ljsf;

1 s[lif ;DalGwt tflnd j*f g+= 1 100000

             ko{^g

2 sGs]Zj/ lzjfno dlGb/ j*f g+= 1 100000

3 hgsNof)f cf=lj= sDkfp)*sf] b'uf{ dlGb/ lh)ff}{bf/ j*f g+= 1 100000

4 ^'g'j:tL b'uf{ dlGb/ lh)ff}{bf/ j*f g+= 1 50000

5 ;Gtdt ;T;+u ejg dxfef/f j*f g+= 1 100000

6 sfln dlGb/ xf]snjf/L %fgf %fpg] j*f g+= 1 50000

7 dxlif{d]xLsf] Wofg ;fwgf s]Gb| j*f g+= 1 50000

          ;fdflhs ljsf; tkm{ 

1 lzIff sfo{qmd j*f g+= 1 500000

2 :jf:Yo sfo{qmd j*f g+= 1 200000

            afnaflnsf

1 OGb|])fL jfn ljsf; j*f g+= 1 100000

          cflbaf;L hghflt

1 wfguf*f dxf/fh yfg lh)ff}{bf/ j*f g+= 1 100000

2 eG;f/ dxf/fh yfg lh)ff}{bf/ j*f g+= 1 100000

3 cf}Nof jfjf dlGb/ b]jLuf*f lh)ff{bf/ j*f g+= 1 100000

          k'jf{wf/ ljsf; tkm{ 

phf{, n#" tyf ;fgf hnljB't

1 s[lifsf] nflu ljB't j*f g+= 1 400000

ejg tyf zx/L ljsf;

1 ;fd'bflos ejg xf]snjf/L j*f g+= 1 100000

;*s tyf k"n

1 x|o'd kfOk vl/b j*f g+= 1 800000

2 rf}lj; ^f]n hfg] ;*s u|fe]n j*f g+= 1 200000

3 OGb|])fL k|f=lj= k"j{ ;*s j*f g+= 1 300000

4 lj/ axfb'/ ^f]n ;*s j*f g+= 1 200000

5 /fd s'df/ >]i&sf] #/ klZrd ;*sdf df^f]sf] sfd j*f g+= 1 100000

6 k[YjL gf/fo)f cf=lj= klZrd ;*s u|fe]n j*f g+= 1 200000

7 df]ltnfnsf] #/b]lv efunfn #/;Dd af^f] j*f g+= 1 200000

8

v*\s l;+xsf] #/ b]lv x'nfsL ;*s ;Ddsf] ;*sdf 

df^f]sf] sfd j*f g+= 1 200000

9 nIdL >]i&sf] #/ k"j{ af^f]df df^f]sf] sfd j*f g+= 1 50000

10

;'wf? /fhj+zLsf] #/ x'b} yfkf sNe^{ b]lv gs'n 

/fhj+zLsf] #/;Dd ;*s u|fe]n j*f g+= 1 500000

11 s]zj e§/fO{sf] #/ k"j{ ;*s u|fe]n j*f g+= 1 100000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=;= cfof]hgfsf] gfd 

cfof]hgf 

;~rfng 

x'g] :yfg 

cg'dflgt 

nfut 
s}lkmot

           cfly{s ljsf;

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

1 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

12

lzjfno dlGb/ b]lv xl/ /fhj+zLsf] #/ ;Dd ;*s 

u|fe]n j*f g+= 1 100000

13 dx]z nfnsf] #/b]lv ;'jf;sf] #/;Dd ;*s u|fe]n j*f g+= 1 100000

14

lty{ tfhk"l/ofsf] #/b]lv k"j{ rGb| k|;fb e§/fOsf] 

ufphfg] af^f] j*f g+= 1 400000

15

l^sf ('+ufgfsf] #/ klZrd l;dn rf}s x'b} kfruf%L 

l;dfgf b]lv k'/fgf] gSzfsf] ;*s x'b} ;}lgs rf}s 

hf]*\g] ;*s u|fe]n j*f g+= 1 200000

16

;'s'Djf;L ^f]nb]lv l^sf ('+ufgfsf] #/;Dd ;*s 

u|fe]n j*f g+= 1 200000

17 ;}lgs rf}sb]lv ljqmd /fO{sf] #/;Dd ;*s u|fe]n j*f g+= 1 300000

18

eG;f/ rf}s, g'lgof /fhj+zLsf] #/b]lv /fdbn 

nfjtL#/ eG;f/ ahf/;Dd ;*s u|fe]n j*f g+= 1 300000

19 xl/ /fhj+zLsf] #/b]lv k"j{ klZrd ;*s u|fe]n j*f g+= 1 300000

20

jfn'jf*L klZrd sNe^{ b]lv lj/ jxfb'/ bhL{sf] #/ 

x'b} dxf/fhyfg hfg] af^f]df df^f]sf] sfd j*f g+= 1 100000

21 gf}n l;+x yfkfsf] #/tkm{ hfg] af^f]df df^f] k'/fO{ j*f g+= 1 100000

22 ^'g'j:tL b]lv /+luofyfg hfg] af^f]sf] sNe^{ dd{t j*f g+= 1 200000

23

z'ef e)*f/Lsf] #/b]lv a;Gt /fhj+zLsf] #/;Dd 

af^f] lgdf{)f j*f g+= 1 100000

24 lhDbf/ rf}s klZrd ;'s'Daf;L hfg] af^f] j*f g+= 1 150000

25 /]*qm; ejg b]lv uf]kfn /fhj+zLsf] #/ hfg] af^f] 200000

       jftfj/)f tyf ljkb\ Joj:yfkg 

1 ^+s >]i&sf] #/ klZrd t^aGwg j*f g+= 1 200000

        ;'zf;g tyf ;+:yfut ljsf; 

1 dxfef/f k|x/L rf}sL  -;fj{hlgs ;'/Iff_ j*f g+= 1 25000

2 s'lGhaf/L k|x/L rf}sL -;fj{hlgs ;'/Iff_ j*f g+= 1 25000

8000000


